

§ 10.5 Absolute convergence; The ratio & root tests

Def: $\sum a_n$ converges absolutely if $\sum |a_n|$ converges.

e.g. $\frac{2}{5} - \frac{4}{25} + \frac{8}{125} - \frac{16}{625} + \dots$

$$\sum \frac{2}{5} \left(-\frac{2}{5}\right)^{n-1} = \frac{2/5}{1 - 2/5} = \frac{2}{3}$$

converges: $a_n = \frac{2}{5} \left(-\frac{2}{5}\right)^{n-1}$

Geometric with ~~1st~~ ✓
 $r = -\frac{2}{5}$

Note: $|a_n| = \frac{2}{5} \left(\frac{2}{5}\right)^{n-1}$

$$\sum |a_n| = \frac{2}{5} + \frac{4}{25} + \frac{8}{125} + \frac{16}{625} + \dots = \sum \frac{2}{5} \left(\frac{2}{5}\right)^{n-1} = \frac{2/5}{1 - 2/5} = \frac{2}{3}$$

Geo w/ $r = \frac{2}{5}$

$\therefore$ series converges absolutely.

Thm: (Absolute convergence test)

IF $\sum_{n=1}^{\infty} |a_n|$ converges THEN $\sum_{n=1}^{\infty} a_n$ converges

Proof:

$$\forall n, -|a_n| \leq a_n \leq |a_n| \Rightarrow 0 \leq a_n + |a_n| \leq 2|a_n|.$$

$\sum_{n=1}^{\infty} |a_n|$ conv.
 $\sum_{n=1}^{\infty} 2|a_n|$ ALSO conv.

$\sum a_n + |a_n|$ converges by D.C.T.

$$\text{Then } \sum a_n = \sum (a_n + |a_n| - |a_n|) = \underbrace{\sum (a_n + |a_n|)}_{\text{converges}} - \underbrace{\sum |a_n|}_{\text{converges}} \quad \checkmark$$

e.g. $\sum \frac{\sin(n)}{n\sqrt{n}}$ CONVERGES BECAUSE IT CONVERGES ABSOLUTELY BY COMP. TEST.

THE RATIO TEST

Let $\sum a_n$ be any series and suppose

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \rho$$

Then $\sum a_n$ $\begin{cases} \text{CONVERGES ABSOLUTELY IF } \rho < 1 \\ \text{DIVERGES IF } \rho > 1 \\ \text{INCONCLUSIVE IF } \rho = 1. \end{cases}$

Proof: IDEA: For large n , say $n \geq N$, we have

$$\left| \frac{a_{n+1}}{a_n} \right| \approx \rho \Rightarrow |a_{n+1}| \approx \rho |a_n|$$

$\approx$ GEOMETRIC.

IF $\rho > 1$ THEN TERMS DO NOT GO TO 0.

$\Rightarrow$ DIVERGE BY n^{th} -TERM TEST.

$$\sum_{n=1}^{\infty} |a_n| = \sum_{n=1}^{N-1} |a_n| + \sum_{n=N}^{\infty} |a_n| \approx |a_N| + \rho |a_N| + \rho^2 |a_N| + \dots$$

$$\approx \underbrace{\sum_{n=1}^{N-1} |a_n|}_{\text{FINITE}} + \underbrace{\sum_{n=1}^{\infty} |a_N| \rho^{n-1}}_{\text{CONVERGES IF } \rho < 1}$$

FINITE

CONVERGES IF $\rho < 1$

$\rho = 1$ For BOTH $\sum \frac{1}{n}$ & $\sum \frac{1}{n^2}$

$\downarrow$
DIV.

$\downarrow$
CONV.

Note: Ratio Test is GREAT WHEN a_n IS AN EXPRESSION WITH $n!$

ex. $\sum_{n=1}^{\infty} (-1)^n \frac{n+2}{3^n}$

ex. $\sum_{n=1}^{\infty} (-1)^n \frac{n^2 (n+2)!}{n! \cdot 3^{2n}}$

THE Root Test:

Let $\sum a_n$ be any series and suppose that

$$\lim_{n \rightarrow \infty} \sqrt[n]{|a_n|} = \rho$$

Then $\sum a_n$ $\left\{ \begin{array}{l} \text{CONVERGES ABSOLUTELY IF } \rho < 1 \\ \text{DIVERGES IF } \rho > 1 \\ \text{INCONCLUSIVE IF } \rho = 1. \end{array} \right.$

Proof: For n large enough, say $n \geq N$, we have

$$\sqrt[n]{|a_n|} \approx \rho \Rightarrow |a_n| \approx \rho^n$$

Note: If $\rho > 1$ then

$$a_n \not\rightarrow 0$$

$\therefore \sum a_n$ DIVERGES.

$$\therefore \sum_{n=1}^{\infty} |a_n| = \underbrace{\sum_{n=1}^{N-1} |a_n|}_{\text{FINITE}} + \underbrace{\sum_{n=N}^{\infty} \rho \cdot \rho^{n-1}}_{\text{CONVERGES IF } \rho < 1}$$

For $\rho = 1$ consider $\underbrace{\sum \frac{1}{n}}_{\text{DIV.}} \nmid \underbrace{\sum \frac{1}{n^2}}_{\text{CONV.}} : \lim_{n \rightarrow \infty} \sqrt[n]{\frac{1}{n}} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{1}{n^2}} = 1$

ex. $\sum_{n=1}^{\infty} \frac{4^n}{(3n)^n}$

ex. $\sum_{n=1}^{\infty} \left(\frac{4n+3}{3n-5} \right)^n$

ex. $\sum_{n=1}^{\infty} \left[-\ln \left(e^2 + \frac{1}{n} \right) \right]^{n+1} = \sum_{n=0}^{\infty} \left[-\ln \left(e^2 + \frac{1}{n+1} \right) \right]^n$

ex. $\sum_{n=1}^{\infty} (-1)^n \left(1 - \frac{1}{n} \right)^{n^2}$ Hint: $\lim_{n \rightarrow \infty} \left(1 + \frac{x}{n} \right)^n = e^x$

ex. $\sum_{n=1}^{\infty} \frac{n! \ln n}{n(n+2)!}$ $\sum \text{EXP} \left[n^2 \ln 2 - 2^n \ln n \right]$

ex. $\sum_{n=3}^{\infty} \frac{2^{n^2}}{n^{2^n}}$ $\frac{\frac{2^{(n+1)^2}}{(n+1)^{2^{(n+1)}}}}{\frac{2^{n^2}}{n^{2^n}}} = \frac{2^{\cancel{n^2} + 2n + 1}}{\cancel{2^{n^2}}} \cdot \frac{n^{2^n}}{(n+1)^{2^{n+1}}}$

$\lim_{n \rightarrow \infty} \left(\frac{2^{n^2}}{n^{2^n}} \right)^{1/n} = \lim_{n \rightarrow \infty} \left(\frac{2^n}{n^{2^n/n}} \right) = \frac{2^{2n+1} 2^n}{(n+1)(n+1)^{2^n}} = \frac{2^{2n+1}}{n+1} \left(\frac{n}{n+1} \right)^{2^n} \rightarrow \infty \cdot 1 = \infty$

$\text{EXP} \left[\lim_{n \rightarrow \infty} \frac{2^n \ln \left(\frac{n}{n+1} \right)}{2^{-n}} \right] = \text{EXP} \left[\lim_{n \rightarrow \infty} \frac{\frac{n+1}{n}}{-\ln 2 \cdot 2^{-n}} \right]$